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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe -h
USAGE:
IT6300_Cli <COMMAND>

OPTIONS:
-h, —help Prints help information

COMMANDS :
Output <CHANNELID> <ENABLEOUTPUT> Output the voltage command
GetCurrent <CHANNELID> Get current command
GetVoltage <CHANNELID> Get voltage command
SetCurrent <CHANNELID> <CURRENT> Set current command
SetVoltage <CHANNELID> <VOLTAGE> Set voltage command
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe output -h
DESCRIPTION:
Output the voltage command.

USAGE:
IT6300_Cli Output <CHANNELID> <ENABLEOUTPUT> [TIMEOUT]

ARGUMENTS:
<CHANNELID> The channel id to be operated
<ENABLEQUTPUT> If ture, output the voltage
[TIMEOUT] Optional, the operation maximum waiting time. Unit: ms. Default Value: 10800ms

Prints help information
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe SetVoltage 1 30
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe SetVoltage 1 30 10
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe SetCurrent 1 3
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe SetCurrent 1 3 18
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe GetVoltage 1

D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe gv 1
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe GetVoltage 1 10
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe GetCurrent 1

D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe gc 1
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe GetCurrent 1 5
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe Output 1 true
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe o 1 true
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D:\Hybrid-Code\HybridSoft\HybridTest.Client\IT6300_Cli\bin\Debug\net8.0>IT6300_Cli.exe Output 1 true 10

3 BAE © HMNEEHmENRRHEERA S




